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Expression Derivative Jxkdx (xk+1)/(k+1)
f(x)=k f(x)=0 fx-tdx Infx| + G i — —b++v/b%—4ac
f60-x -1 fox caC 2a
f(x)=xa f(x)=axa-1 JKF(x)dx KJF(x)dx
(x)=kx f'(x)=k Jekxdx (1/k)ekx + C
(a+b)? a2 + 2ab + b2
f(x)=1/x f'(x)=-1/x2 Jakxdx ak¥/[kLn(a)] + C
(a-b)2 a2 - 2ab + P
f(x)=In x f(x)=1/x fsen(kx) dx -(1/k) cos(kx) + C
a2 - b2 (a-b)(a+b)
f(x)=eu fi(x)=u'.e¥ Jcos(kx) dx 1/k sen(kx) + C
(a+b)3 ad + 3a2b + 3ak? + b3
f(x)=logaX f'(x)=1/x Ina Jsec(kx) dx 1/k(Ln|sec(kx) + tan(kx)|) +
c (a-b)3 a3 -3a2b + 3ab? - b3
f(x)=sen(x) f'(x)=cos(x)
3 - - b)A -
f(x)=sec(x) P(x)=sec(x).tan(x) fTan(kx) dx -(1/k) Ln|cos(kx)| + C ad - pd (a-b)"3 +3ab (a-b)
f(x)=arcsen(x) f(x)=AA1-x2 Jesc(kx) dx 1/k Ln |csc(kx) - cot(kx)| + ad + b3 (a+b)3-3ab(a+b)
C
f(x)=cos(x) f'(x)=-sen(x)
Jcot(kx) dx 1/k Ln |sen(kx)| + C
f(x)=csc(x) f'(x)=-csc(x).ctg(x)
Jsec(kx) dx 1/k sec(kx) + C Given x"2+ax+b=0, then you have to find two
f(x)=arccos(x) f'(x)=-1V1-x2 L
Jesc(kx) cot(kx) -1/k csc(kx) + C numbers that when multiplied give you B and
f(x)=tan(x) f'(x)=sec?(x) dx added give you a.
f(x)=ctg(x) f(x)=-csc2(x) Jsex2(kx) dx 1/k tan(kx) + C 2L
; x"2+4x+3, turns into: (x+3)(x+1)
f(x)=arctan(x) f0)=1/1+x2 Jesc2(kx) dx -1/k cot(kx) + C
[x]>a x>a or a<-a
|x|<a -a<x<a
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0/n 0 sen? o + cos? o = 1 sin (x) cos (y) = 1/2 (sin (x = y) + sin (x +y))
n/oo 0 sec2a=1+1g? o cos (x) cos (y) = 1/2 (cos (X - y) + cos (X +Y))
n/0 [ cosec? a = 1 + cotg? o csc(x) = 1/sin(x)
tan o = sena/cosal sec(x) = 1/cos(x)
tan? o +1 = sec® o cot(x) = cos(x)/tan(x)
logaB" nlogaB cot? o +1 = csc? o sin(-x) = - sin(x)
logaA=Ine 1 sin(x + y) = sin(x) cos(y) + cos(x) sin(y) cos(-x) = cos(x)
logat=In1 0 cos(x + y) = cos(x) cos(y) - sin(x) sin(y) tan(-x) = - tan(x)
loga(m.n) logaM + logaN tan(x + y) = (tan(x) + tan(y))/(1 - tan(x) tan(y))
loga(m/n) logaM - logaM sin(x - y) = sin(x) cos(y) - cos(x) sin(y)
cos(x — y) = cos(x) cos(y) + sin(x) sin(y)
tan(x - y) = (tan(x) - tan(y))/(1 + tan(x) tan(y))
& ! sin (2 x) = 2 sin (x) cos (x)
al a cos (2 X) = c0s2 (x) - sin2 (x)
am. am+n cos (2 x) = 2 cos2 (x) - 1
am/a am-n tan (2 x) = (2 tan (x))/(1 - tan2 (x))
(a.b)n an. pn sin2 (x) = 1/2 (1 - cos (2 x))
(a/b)n an/pbn cos2 (x) = 1/2 (1 + cos (2 x))
(am)n am.n sin (x) cos (x) = 1/2 sin (2 x)
an/m raiz m de an sin (x) sin (y) = 1/2 (cos (x - y) - cos (X +Y))
al 1/a
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